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2. Youure required to answer all the duestions in this booklet.
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For each of the questions from 1 to 24, four options are given. One of them s the
cotrees Angwer, Make your choice (1,2, 3 of 4), Shade the correctoval (1,2, 3of
4 o the Optical Answer Sheet.

Which one of fhe following properties i true for both air and an craser?

(1) Both can be seen.

{7} Both take up space:

(3) Both have fixed shapes.
{4) Both bave fixed volumes.

2,  Matterisanything that has mass and eccupies space, Which one of the
following is riot matter?

(1)air

(2) soil

(3) water
{4y shadow

3. Which oii¢ of the following parts makes food for the plant?
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4. Which one of the following shows the correet: order when food moves
through some paris:of fhe digestive system?

@

Latgeintestine. g

=

 Smallintestine  larse intestine stoiach |

3. Thediagtam shows the lifs eycle of a plant.

What is the stage marked X?
(1) egg

(2] seed

(3) adult plant

(#) youtig plant
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The set-up befow shows light shining on a ‘wooden bait,

Torch woodewbalf ~ screen

Which one of the following would likely be seen on the sereen?

magnet ~—— :

ohject X

Object X is made of ____

{1)iron
(2)waod
3y plastic
{4) rabber



10.

Which statement is wof frive about anim

(1) They cati stow.
(2) They can move,
(3) They can reproduce.
(4) They can make food,

Which one of the animals shown below is o at-inseet?

) @

@ @

Metal is used to make the hammithead of the hasifne mifner betaiise nietal

(1) ¢in rofloct Hght
(2) does not break easil:

(3) catrbend without breaking

(4) doss niot allow hght o Pass throngh

5
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Study the roots of four plants befow. Wi

ich plant is tost likely to-stay

upright and not be blown ever by strong winds o a storny day?

() PlantA

(2) PlaitB

#&: Skeletal system
B Muscular systein
D; Respiratory system.

() AandB
(3) BandD

4 CoandD
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An. experiment was set up fra dark room, A cardboard with a triatigular
ent-out and three different pieces of materials, P, Qand R, were placed fn
& straight line in frontof a torch, The properiy of the materials is given in
the igble below, -

. Propertyofmaterial | Materal
Allows most light to pass through | PandR
Does not allow light fo pass through | L

triangularcut-out triangular pateh. of light

—q

torch

Posiion 1 position 2 position 3

How should materials P, Qand R be arranged such that atriahgular patch

of light can be seén.at position 22

Position 1 Postiion 2 Fodions ]

@ |

) m| w0
<l O

BP~817
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14, Kaito is unwell and passes oubwatery stocls swhenever fe uses the
toilet.

Which part of Kaito’s digestive systemn i§ nat functioning well 9

neighbourhoed noticed an increase in. the number of mosquitoes there. They
decided fo solve the problem by overturning pails and emptying flower pot
‘plates to reduce the number of mosquitoes.

At which stige(s) of the life cycle of the mosquity ats the people trying to
get fid of the mosguitoes?

(1) Adultonly

(2) Adultandeggonly

(3) VLarvaand pupa only
(4) Egg, larva and pupa only



She nsed three different aiknown objects X, Y and Z and recorded the
readings in the table below using thie light sensor;

[ Objects Amonntoflightdetecfedbythehghtsensor{umt)
. | 50

Shie wioté down a few conclusions based vi hier recorded readifis.

Ax Object X allows some light to pass through,

B: Object Z does not.allow any light fo pass thtoiigh.

Ct Object Y allows less light to pass through if than object Z.

D: Obiect Z allows more light to pass through it than object X,

Which of the following conclusions afe sotrect?

(1Y AsandBonly
(2) Aand D only
3} BardConly
{4) Cand D only

BP-~819
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i7. ‘Which of the statements below correctly define heat and teniperature?

G: Heatisa form of encrgy.

1 Heat moves from a covler objectto a warimer object.

T. ‘Temperafire measures e depres of botness of an object.

J; Temperaturs measures how mach.an object expands or contracts,

(1) GandJonly
() G andTonly
(3) HandIonly
(4y HandJonly

18. Belle heated substarice P aver a flatié until it beiled, then removed it from

fie flame and allowed it to cool to TOOM temperature.

The graph below shows the temperature of substance P duting the
experiment.

—
2
(o)

A g

 Temperature(°C)
cE¥8BBBIBE

nﬁasgmﬁﬂmmnm
TFime {minutes)

Thich o of the following statements is frue?

(1) “Yhe roont femperature was 85°C.

() SubstanceP lost heat from stage D-to stage E.

(3) Substance P gained heat fromh stage A to stage B

(4) 'The temperature of substance P inicreased from stage A to stage C.

H



“19.

20.

with water at 60°C and placed them on a table,
3

‘William notices that there are gaps betsween the concrete slabs of the track
while walking helow the MET fracks,

What is the purpose of these gaps?

(1) Toallow air to enter witen the MRT train fs fravelling

@) Toullow for expansion of the concrete slabs on a hot-day

(3} Toallow for contraction of the concrete slabs on 4 cold day

@) Toreduce the amount of materials required to build the MRT tracks

Sarah filled up three containers niade of &i-ﬂ‘,efeﬁt materials, P, Q and R,

Material P Material O ‘Mater

dor

She recorded the titme taken for the water to reach room temperatuie for
each set-up in the table below,

{ Materials | Time (minutes) |
o N T
R I

‘Which one of the following sets best represents materials Q and R?

G)i
@1

Material

| Matorial R

Steel

Wood

_Wood

Steel

Iron

_ Steel

_ Sigel

Tron

1

BP-~821
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21, Thediagtams ‘below show two.living things.

strawbérry plant bitd’s riest fern
Which of the following statements-is/ are cotrect?

Az Both plants reproduce by spores.
B: Both plants niake their ownrfood.
C: Both plants have Howers and fruits,

G)A and B orly
(4B and.C only

12
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2. Study‘the fowchart below carefislly:

. Living Things

- Bird’s
- fern

.Hbﬁé's__it
. byspores? e

Question

| Otchid plant |

thh Df tbes followmg cerr.ecﬂy represents W and. qucsﬁon X‘?
w QuestionX

1) Mushraom  Canit only be seen under the m:cmscope?

@ | Rose ' _’Is 1taﬂewenng plant?

@ | Yeast | Doesitmake s own food?

43 Hibiscws | Isita non-flowering plai?

13
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. Which material is the most suitable formaldog part Z of a motoreycle

v Yes
| X:Ne

e R
[Material| _Strong | Waterproof |  Flexible
@] A / . 4

@ |

AR
x«x‘:«f

|j@{nw
badl o &

14
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24., Jeremy filled up four identical beakers with 100l of water each and placed
Toyr different materials, P, @, R and S, of the: same size info the beakers as
shown below.

He removed the waterials after 10 minutes. The: remai
beaker is as shown befow.

. ... Original

water level

T

Which material is the most suitable for iaking a taincoat?

(fy »p
2y Q
3 R
4 s

15
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2. You arerequired to answer all the questions in. this paper using' your own
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Wirite your answers to questions 25 to 35 ini this booklet.

25, Choosethe correct words from the box to fill in the-blanks below.

| solid liquid gas

(2  Ali pourshomey from a bottle-onto a table as shown below.

table

The yolume of honey remains the same buf its shape changes. Thils shiows that
honeyisa, ... ... [1}

(b}

i pours some marbles from a bottle onfo a table s shown below.

The shape and volume of the marbles rémain. the-same: This. shows that a

marbleisa__ . . (11

BP-828
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Tdentify the parts where
(a) digestion first takes placer (1
(bythereisnio digestion: [1]

27,  The diagram shows how Mary sees a flower,

Fill in the blanks using the correct words in the box,

T T "

(d) The'torch is the light w ; [T

(W)Lightis__ by theflower {1}




@

)

James placed 2 plastic Tod and a metal rod fnto a tank of boiling; water as
sliown below: Equal amounts of wax were'put on beth rods.

Bzo_ll‘m‘g N
water

Plasticrod Metal rod
What would he observe and why? 2]

Thie wax on the metal rodmelted,__ then the wax on the

plasticrod, asmetalisa _______ . conduetor of heat than plastic.

Sy .
— cage

— animal

After 7 few days, will the amount of food in the bowl increase, deerease or
remain fhe saime? 53]

Based on the diagram above, name one substange this anfmial needs so that it
can remain glive, [1]

BP~830



30:  Jask had two sitilar syringes containiing substanees A and B in different
stafes. He placed a stopper at the end of each syringe to scdl it
‘Plunges ‘ stopper

Jack gave cach plunget & push and recorded his observations below.

| Ar The plunger moved inty the Syringe and stopped midway,
| B: The plun ger could yipr be maoved at all.

) Based on Jack's obiseryations, write dovi the states of substances A aud B,
&)

Ar
B:

(b)  Jack attached another syringe that was filled with 100ca3 of subgtance C to
an empty 80¢m?” ifon contafner s showi,

)80cm? iron
—Jeontainer

push——»

100em? of
He maniaged 16 push the plunger casly and pumped substance C fato the
container completely,
What would bethe total volirme 6 substance Cin the contairier after he pushed
the pluriger? 1
Total yolume of C'in the container (e | Tick the coXrect answer |
55 -—toete o) -
100

18

(&) What eould Jaek conclude about the physical Propetty of substarics € from

BP-~831




31. - Thedagran below showsHow the humag systerts, P, Q-and R, work togethet:

. Allbodypass |

Food

b
[ - .
"

oo £ Carbon
i dioxide

T —
- wpf  Human SystemiP &

— "" PR } e 5
1 Carpon
Xygen § i dioxide

Human System B

(@) ldentify fhe human system R,

e

Exhaled air
[1]

(o) What is thie fimetion of homan: system P?

1]

@ %

[l rade [ pemr

Vhich two homan systems below must work together so that all parts of
fhie body can get.oxygen? Tivk (v} the coreect box below. m

E] QandR

BP-832



32.  Zasconducted an experiment helow.

11| height of shadosy

Fs
o
3

i and ball
lamp

He placed a ball bétiween z lamp'and & screen. He measured the height.ofthe

shadtw cast on the soreen. He repeateld the expetiment by toving the famp
Bway from the ball and-récorded his findings a¢ shown below.
| Distance between lamp and ball (¢r) _Height of shadow (cm)
10 - 13
15 _ 1
T

(@  Explain how a shadow is formed. [1]

(b)  Without iioving the ball, suggest-two ways in which.Zac can fofin & larger
shadow ofthe ball on the sereen. [2]

i)
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33. Ralm .
pouted the het milk tea continuously from ot cup fo adother and back, as.
shown below. He then recorded its temperature between éach pour inthe fable
below.

Nomperofponrs ] 0 | 1 23] 4|

[ Temporatare of hot walk tes (C) | 08 | 95 | 91 | 85 | 88 |

- Second cup

Firsf eup — g,
¥ Afterthe

/' first pour = Hotmilk tea

Hot:ilk tes ——T ¢

Second éap: o £
——= First cup

(4 ‘Based on the data above, whiat was the relationship. between the number of
powrs and thetemperature of the hot milk fea? [

(b) Explain your answer in (). : 1]

tc) Adfterthe fourth pour, Rahman leff the cup of hot milk tea.on the difitig table
for two Hotits, Describe whit would happen to the temiperature of the hot milk
téa during themext two houss. 21

Raliman prepared 2 tup of hot milk fea and measured iS temperature, He

BP-834



34. The diagram shows z botils counterusing a light sensorto detéct frosted glass
botfles on a moviiig belt. The baltimoves at a-constanf speed,
ﬁ'osted_g!aﬁ_?bottias LS - light sensor
X S (connected to a
7 \g | daralogger}:

moying belt

direction. the belf is moving:

Thereadings from the datalogger are.shown in the

graph below,

Brightness (units),

5 1 B EE w g e
(s) State.one property of light that ailows the frosted glass bottles to be counted,

]

(0} Based o the graph, how many frosted glass botles were counted in the first
35 seconds? : [1]

BP-~835
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{¢) Ifthefiosted glass bottles were replaced with metal ones, what would happes
ta thereadings in the graph? Explain your answer. (2]




@)

(b

(®

BP-837

35, M Tan wanted to make a.fish tank, He set up an experimént to comipare the

strerigth of three different patiels, A, Band €, of ihie sania leripth; thickness
and mass;

Hedropped an fron baron each panel and repeated the-action until fhe panel
broke, _ |

4 wpoden block

For cach panel, he counted the number of hifs and recorded it fn the tabls
below.

. Pamel | Number of hits before panel broke |

AT 12

B ? 25

C 7

Based on the results, which panel, A, B or C, is'most switable for making a
fish tank? Explain your answer, {2]

Name another property that the panel should have. [11

Other than the above varigbles, state another vaddble that should be kept
cohstant o efisure 4 fair fest. 1

" END OF PAPER
i
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Q11 Q12 | Q13 Q4 Q15 Q16 Q17 Q18 | Q19 Q20
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Q21 Q22 Q23 Q24
1 1 4 2
_
Q25) a) liquid
b) solid
Q26) a) A
b) D
Q27) a) source
b} reflected
Q28) |faster / better
Q29}) a) decrease
7 b) water
Q30) |a)A:gas B:solid
b)80
c)Substance C can be com pressed.
Q31) a) Respiratory system
~ b} It breaks down food into simple substance

Pg1
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c) QandR

Q32) | a)A shadow is formed when the object blocks the light.
i)Move the torch nearer to the ball.
iijMove the screen further away from the ball.

Q33) a) The more the hot milk tea is poured the temperature would
decrease.

b) As if you pour to milk tea to the other cup the cup would gain
heat while the milk the milk tea will lose heat to the
surrounding.

¢) The temperature of the hot milk tea would decrease and

become room temperature.

Q34) a) Lighttravels in a straight line.
b} 3
c) It would decrease to zero as metal is not opaque so it won't

allow light to pass through.

Q35) | a)B. As B was the one with the most amount of hits before it broke
compared to the rest. Therefore, it is the strongest.

b)waterproof.

¢)The weight of the iron bar.

Pg2



